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Topic:- Final QA

1) 80 workers, working together can do a piece of work in 50 days. But after 20 days, 50 workers
left. In how many days the remaining work is completed by the remaining workers?

¢0 FTHIR THATIO Tk FIA 9o RETATHEY 0T F& AFAT. T 0 AR, 90 FRAAN fAge 1. o 37
FTHAR arehrer F1T el Rawra qot Fclter?

[Question ID = 294121]

1. 80 days / ¢o f&ad [Option ID = 1142540]
2. 50 days / o f&ad [Option ID = 1142541]
3. 40 days / 8o f&a@ [Option ID = 1142542]
4, 30 days / 3¢ fga&d [Option ID = 1142543]

Correct Answer :-
« 80 days / ¢o f&aa [Option ID = 1142540]

2) Mohit can complete a piece of work in 2 days and Jayant can do the same work in 3 days. They
agree to work together with Pinto and complete the work in a day. If they receive RS. 12,000 for the
work, how much should Pinto get?

AT v F1 2 Rawaed qof F& awat nfor sra A= 7 3 Rawiaed gof F& awal. i e faa Fe
FIOAT AT Frel 0T THT w1 o F1o7 gob Fel, AT AT FIATATS T.83,000 AaTer Ir8citer, a¥ ke camrefier
Pt AerIar ga?

[Question ID = 294122]

1. RS. 5,000 / &. 3,000 [Option ID = 1142544]
2. RS. 4,000 / . ¥,000 [Option ID = 1142545]
3. RS. 6,000 / &. &,000 [Option ID = 1142546]
4. RS. 2,000 / &. ,000 [Option ID = 1142547]

Correct Answer :-
e RS. 2,000/ &. 3,000 [Option ID = 1142547]

3) If Sujatha walks at 4 km/h, she is late to her office by 10 minutes. But if she walks at 5 km/h,
she reaches 5 minutes before. How far is her office from her home?

gotrar ¢ freft/ are damer =rerdt, o fova forea 3ifswsed devamy ¢ Bislie Ree gt wiq o o feslt/are
Fama =rered), o} ot o A el aigiea. v foe e eRraregeT R gy ame?

[Question ID = 294123]
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1. 5 km / s faafr [Option ID = 1142548]
2.4 km / ¥ feY [Option ID = 1142549]
3. 5.33 km / .33 f&T [Option ID = 1142550]
4, 4,67 km / ¥.8 TaT [Option ID = 1142551]

Correct Answer :-
e 5km /¢ foeT [Option ID = 1142548]

4) If P/(Q+R) = Q/(R+P) = R/(P+Q) = Kand (P+Q+R) = 0, then what is the value of K?

SR P/(Q+R) = Q/(R+P) = R/(P+Q) = K 31fI(P+Q+R) = 0, & K & 7z Fei?
[Question ID = 294124]

.-1/ -2 [Option ID = 1142552]
.1/ ¢ [Option ID = 1142553]

. 0.5/ 0.5 [Option ID = 1142554]
.-0.5 / - 0.4 [Option ID = 1142555]

A WN B~

Correct Answer :-
e -1/-¢ [Option ID = 1142552]

5) The compound interest on a certain sum of money Rs. X for 2 years at 10% per annum is Rs.
2100. What will be the simple interest on Rs. X for 2 years at the same rate of interest?

E.9T.20% SITel THT 3UTAF THATI  TUTE ThdTe Tl T2 00 TR, d¥ AT AT AT {THAAT IS
TS Tt forddt 3re?

[Question ID = 294125]

1. Rs. 2050 / &. 040 [Option ID = 1142556]
2. Rs. 2000 / &. 000 [Option ID = 1142557]
3. Rs. 2100 / . :¢e0 [Option ID = 1142558]
4. Rs. 2010 / &. 20830 [Option ID = 1142559]

Correct Answer :-
e Rs. 2000 / &. 000 [Option ID = 1142557]

® Production Overhead
B Other Expenses
W Direct Labour

m Direct Material
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Cost of production of sugar at a factory for a month under different heads are as follows:-

Direct materials — Rs. 12,00,000
Direct labour — Rs. 20,00,000
Production overheads — Rs. 35,00,000
Other expenses — Rs. 23,00,000

What is the difference between the central angles for the largest and smallest components of the
cost of production, if all items are placed on a pie-chart?

THT FRETITATT FTEITAT ScTTISATHT 99T MYRTETeller IcqTe @ Wrellel THTOY 318,

9T ATATET @9 - T 93,00,000
2}3 HGJ;& - F_Qo,oo,ooo
3cUTGe IXEH - F 39,00,000
FA @ - T 33,00,000

Y TE TIE-9TE ALY STEATH, FAT T FHATT IcaTeeT HedTeAT USHIEAT PIATd Thall Bl FAeA?
[Question ID = 294126]

1. 100° / g00° [Option ID = 1142560]
2. 140° / 2¥o° [Option ID = 1142561]
3. 48° / y¢°© [Option ID = 1142562]
4. 92° / ]3° [Option ID = 1142563]

Correct Answer :-
e 92°/R3° [Option ID = 1142563]

7) Alphabets of the word “"LAKE"” are arranged randomly to form different words, without repetition
of any alphabet in a single word. A word is chosen at random. What is the probability that word
starts with L?

"LAKE" 9T erecTatiiel FIUTcATE! 3&TTET THTIETT 3 TF BT YA o HIdT AT 2Aeg FABTATHATS! dA FITITHTS!
T ggeller THAT Fell, Aregieh T TGl fvas Fefl. aF L %t 1o §0TraT erearet erarem fch?

[Question ID = 294127]

1. 0.375 / ©.36 [Option ID = 1142564]
2.0.50 / .90 [Option ID = 1142565]
3.0.25 / .35 [Option ID = 1142566]
4.0.33 / .33 [Option ID = 1142567]

Correct Answer :-
e 0.25/ 0.39 [Option ID = 1142566]

8) Suraj sells goods at a discount of 10% and stills makes a profit of 5%. By how much percent had
he marked-up the price of the goods?

qTST ¢0% YT 3T ATelTe fash HTat Jfor alidh cArelr 9% 6T gAY, o) A1 Arerred fareih g frelt earh Felt
ma?

[Question ID = 294128]
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1. 16.67% / 26.86% [Option ID = 1142568]
2. 15% / 29% [Option ID = 1142569]

3. 15.33% / $4.33% [Option ID = 1142570]
4. 17.50% / 26.50% [Option ID = 1142571]

Correct Answer :-
e 16.67% / 26.69% [Option ID = 1142568]

9) Raju lends Rs. X at simple interest, which amounts to Rs. 7200 after 2 years and to Rs. 10200
after a further period of 5 years. Find rate of interest.

T TS ST TIL. X WFFA 3UR e, Sareht 2 aufaay T9d. veo TFFH g1 0" ¢ Fuieday U, to00
TFHHA gid. T TSI Flal.

[Question ID = 294129]

1. 10% / %% [Option ID = 1142572]

2. 33.33% / 33.33% [Option ID = 1142573]
3. 12.50% / %2.90% [Option ID = 1142574]
4. 6.75% | .93 % [Option ID = 1142575]

Correct Answer :-
e 10% / ¢2% [Option ID = 1142572]

10) Let X = 753321. When Y is added to X, (X + Y) becomes a multiple of 9. What is the minimum
value of Y?

AT X = 753321, X AeX Y Afaeard (X + Y) AseT & 97 I aefall. o) Y o frarrer apea fneli?
[Question ID = 294130]

1. 6 / & [Option ID = 1142576]
2.5/ 3 [Option ID = 1142577]
3.3/ 3 [Option ID = 1142578]
4.0/ 0 [Option ID = 1142579]

Correct Answer :-
e 6/ & [Option ID = 1142576]

11) Vimal and Kamal sells their respective watch at Rs. 2000 each. Kamal making 20% profit on
cost and Vimal making 25% profit on cost. What is difference between the cost price of the two
watches?

AT 7 FAA T I FEAT TSI TeAHY 000 TYITAT [Ahell. FHA AT FHANIET 0 TFP ABT HTAT T faHAT a1
fFareat 24 =% T FTe. aX A ggATETeA A Hadate v fFd?

[Question ID = 294131]

1. Rs. 166.67 / &. ¢€&.&b [Option ID = 1142580]
2. Rs. 66.67 / &. &&.6b [Option ID = 1142581]

3. Rs. 666.67 / &. €&&.60 [Option ID = 1142582]
4. Rs. 267.66 / ¥. €.65 [Option ID = 1142583]
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Correct Answer :-
e Rs. 66.67 / &. €6.60 [Option ID = 1142581]

12) Two unbiased dice are rolled in succession and nhumber appearing on them is noted. What is the
probability that both numbers are prime numbers?

A\ o gdoledT SISH UHT GTaI9Ts hTaedr 3mfor 3for camaw Avm=ar &3 dig Fell. SIee! &A1 JRAA=T
rgogTHt aregar R 3me?

[Question ID = 294132]

1. 0.40 / .80 [Option ID = 1142584]
2.0.50 / .90 [Option ID = 1142585]
3.0.33 / .33 [Option ID = 1142586]
4. 0.25 /.39 [Option ID = 1142587]

Correct Answer :-
e 0.25 /0.9 [Option ID = 1142587]

13) Ratio of total surface area of two cuboids is 25:81. What is the ratio of the volume of the two
cuboids?

aleT TeTheiiedT THUT JSSHTITAT &TAhasId J0cal 9:¢ ¢ 3Te. AT Al TeAThdedT Gehesrd JoNeay fhel?
[Question ID = 294133]

1. 625 : 6561 / &39: €452 [Option ID = 1142588]
2. 625 :729 / €39 : bR [Option ID = 1142589]
3.125:729/ 2% : bR [Option ID = 1142590]
4,125 : 81/ ¢34 : ¢g [Option ID = 1142591]

Correct Answer :-
e 125:729/ ¢y : bR [Option ID = 1142590]

14) 3 numbers X, y and z are in arithmetic progression, such that x + y + z = 24 and x*y*z = 440.
What is value of y?

3 WEAT X, y HTTOT Z AT O AUNAEY IATHFR IR Y, AT X + Y + Z = W IOV x*¥y*z = Yyo, Wy T H{eT
freir?

[Question ID = 294134]

1. 8/ ¢ [Option ID = 1142592]
2. 12/ %2 [Option ID = 1142593]
3.10 /o [Option ID = 1142594]
4. 4 | ¥ [Option ID = 1142595]

Correct Answer :-
e 8/ ¢ [Option ID = 1142592]
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15) Compound interest earned on Rs. P at 10% per annum in the second year is Rs. 1320. Find P.

T.HT. 2% T & P T gu-AT ¥t fA@Taar Thale 4T T ¢3¢ 3TE. a¥ P F e o,
[Question ID = 294135]

1. Rs. 30000 / . 30000 [Option ID = 1142596]
2. Rs. 24000 / &. yooo [Option ID = 1142597]
3. Rs. 10000 / &. goooo [Option ID = 1142598]
4. Rs. 12000 / &. %2000 [Option ID = 1142599]

Correct Answer :-
e Rs. 12000 / &. §000 [Option ID = 1142599]

16) What is the ratio of average of first 20 whole numbers to average of first 20 natural numbers?

IReAT 20 Yo FEAT=AT FIEIR TREAT 20 AAfid FEArear el Haaw qoicar fhd?
[Question ID = 294136]

1. 19:21 / ¢R:3¢ [Option ID = 1142600]
2.1:1/ 2:¢2 [Option ID = 1142601]

3. 19:20 / 2R:R0 [Option ID = 1142602]
4, 21:23 / ¢:33 [Option ID = 1142603]

Correct Answer :-
e 19:21/ ¢R:3¢ [Option ID = 1142600]

17) At what rate percent per annum a sum of money becomes four times of itself in 32 years? (If
simple interest is reckoned)

.91, fFdl SISt U WFHA IR AL IRYE gla? (S T a1 Al o)
[Question ID = 294137]

1. 9.375% / R.36$% [Option ID = 1142604]
2. 6.25% / €.3$% [Option ID = 1142605]
3. 8.33% / ¢.33% [Option ID = 1142606]
4. 3.75% / 3.b% [Option ID = 1142607]

Correct Answer :-
e 9.375% / R.364% [Option ID = 1142604]

18) A 1000 gm salt solution contains 40% salt in it. How much salt should be added to make it
60%?

TahT 2ooo IH &TR SIGUITHEN ¥o% &TR 3Med. o THIUT &0% FNVATHTS! ITHEN fFd) &R Asara derdier?
[Question ID = 294138]

1. 200 gm / Q00 [ [Option ID = 1142608]
2. 500 gm / oo 3fe [Option ID = 1142609]


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

3. 400 gm / 8oo I [Option ID = 1142610]
4, 320 gm / 330 IH [Option ID = 1142611]

Correct Answer :-
e 500 gm / Yoo 3 [Option ID = 1142609]

19) The ratio between the speeds of driving their individual cars by Sid and Rid is 3:4. If time taken
by Sid to cover a distance is 64 minutes, then what is the time taken by Rid to cover the same
distance?

Rg rfor Ne Irear FRITAT 39 9AT0T 3:4 3. S AT TEIE 3R IR FIUATATSY &% FAfAE arra s/ av
faaFT 3av IR FIoGrTS Rear fFdr 3 artd. [Question ID = 294139]

1. 56 mins / $& TA=E [Option ID = 1142612]
2. 64 mins / &% fA=IE [Option ID = 1142613]
3. 85.33 mins / ¢4.33 f&A=ic [Option ID = 1142614]
4, 48 mins / ¥¢ fAse [Option ID = 1142615]

Correct Answer :-
¢ 48 mins / ¥¢ A= [Option ID = 1142615]

20) pivide 680 among A, B and C such that A gets 2/3"4 of what B gets and B gets 1/4th of what C
gets. Now the share of C is:-

A, B 31101 C 7tiier 680 o fA3TeTar 1 Fgurst A 1 2/3 =t RAad 3nfor B Famardr C fAad a 1/4 3118, 31T C arer
A3 3HTR:-

[Question ID = 294140]

1. 400 [Option ID = 1142616]
2. 200 [Option ID = 1142617]
3. 350 [Option ID = 1142618]
4. 480 [Option ID = 1142619]

Correct Answer :-
e 480 [Option ID = 1142619]

Topic:- Final LR

1) Complete the following Series.

Frelier @ qut F
6 /% 216/ 11/3% | 121 16/%% | 4096 7.0 B ?
L% EEE [fo2% | 2%

[Question ID = 294342]
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1. 441 / w¥¢ [Option ID = 1143420]
2. 5124 / 323 [Option ID = 1143421]
3. 144 / 2% [Option ID = 1143422]
4. 20 / Re [Option ID = 1143423]

Correct Answer :-
e 441 / ¥¥2 [Option ID = 1143420]

GET IT ON
Google Play

2) Complete the following Series.

Frelter @aT qot 1
3/3 |15 5 e T T R i 2,
g | |1 | fe | e
Bl

[Question ID = 294343]

1. 13/ 23 [Option ID = 1143424]
2.99 / % [Option ID = 1143425]
3.9/ ) [Option ID = 1143426]

4.11 / 23 [Option ID = 1143427]

Correct Answer :-
e 11/ ¢¢ [Option ID = 1143427]

3) Complete the following Series.

grelter @ qot HI
343 /3%3 | 1331/ 2197/ 4913/ 6859 /
133¢ Rivl 323 Teh]

[Question ID = 294344]

1. 9883 / ’¢¢3 [Option ID = 1143428]
2. 12167 / 220 [Option ID = 1143429]
3. 8439 / ¢¥3R [Option ID = 1143430]
4. 9261 / &2 [Option ID = 1143431]

Correct Answer :-
e 12167 / ¢%&L [Option ID = 1143429]

4) Complete the following Series.

grelter @ qot HI



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

4/ 36/ 3% 144/ 94¢ | 400/ €00 | 900/ %00 |7

[Question ID = 294345]

1. 1800 / t¢oo [Option ID = 1143432]
2. 1749 / 264 [Option ID = 1143433]
3. 1764 / 26&% [Option ID = 1143434]
4.1781 / ¢t [Option ID = 1143435]

Correct Answer :-
e 1764 / 2&¥ [Option ID = 1143434]

5) Complete the following Series.

Freller @ qut F

2401/ 3% | 3701/ 3vec? |[4801/%Led | 6501/ %10? | 8001/ Co0o0l |7?

[Question ID = 294346]

1. 10101 / 2o%0¢ [Option ID = 1143436]
2. 10001 / gooot [Option ID = 1143437]
3.9901 / ’Re¢ [Option ID = 1143438]

4. 11001 / 2200% [Option ID = 1143439]

Correct Answer :-
e 10101/ g0%0¢ [Option ID = 1143436]

6) If in a code language:-

FROM = 52;

VILE = 48; and

TOUR = 74;

Then in the same language, how would ZOOLOGY be written?

HiFHfa® IMNAEY ST

FROM = 43;

VILE = g¢; 3mfor

TOUR = by;

T T Aihfas AT9HAEN, ZOOLOGY g7 2rsg FHT fAgie Aréer?

[Question ID = 294347]

1. 96 / _& [Option ID = 1143440]

2. 114/ 298 [Option ID = 1143441]
3. 116 / 2395 [Option ID = 1143442]
4. 115 / 233 [Option ID = 1143443]
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Correct Answer :-
e 115/ 2¢9 [Option ID = 1143443]

7) Ay-E2-I3-0%-# [A;-E3—1,-0%- #
Which of the following shall come in place of “#” in the given series?

T e Aforsd “#” =41 ¥qsl HT Ada?
[Question ID = 294348]

1. T, / Ty [Option ID = 1143444]

2. U5 / Us [Option ID = 1143445]
3. Us / Uy [Option ID = 1143446]

4. U5 / U [Option ID = 1143447]

Correct Answer :-
e Us / Uy [Option ID = 1143446]

8) If in a code language:

GET = 32;
KIN = 34 and;
HOP = 39

Then, in that language, YEN shall be written as:-
S Arhfas AT
GET = 33;

KIN = 3y 31for;
HOP = 3%

TR, AT Hihfas ATNAEY, YEN &7 e FaT fAgier sgar?
[Question ID = 294349]

1. 46 / 8& [Option ID = 1143448]
2. 44 / ¥ [Option ID = 1143449]
3. 45 / ¥ [Option ID = 1143450]
4. 42 | ¥ [Option ID = 1143451]

Correct Answer :-
e 44/ ¥y [Option ID = 1143449]

9) If in a code language:
FORTUNATE is written as ENQSTMZSD; How would PNEUMONIA be written in the same language?

I gidfas dmeaed:
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FORTUNATE &T 2rsg ENQSTMZSD 31dT fagiar Sral; a¥ <3 #m#ed PNEUMONIA g7 215¢ 3T fagiar siige?
[Question ID = 294350]

1. OMDSLOMHZ [Option ID = 1143452]
2. OMDTLNMHZ [Option ID = 1143453]
3. OMDUNLMHZ [Option ID = 1143454]
4. OMDTLMNHZ [Option ID = 1143455]

Correct Answer :-
e OMDTLNMHZ [Option ID = 1143453]

10) If in a code language:

STOP is written as PTOS;
LIKE is written as EIKL

How would CRUSTACEAN be written in the same language?
S Wik fas HAE:

STOP &T 2rsg PTOS 3131 fagier Jray;
LIKE g 2reg EIKL 34T fadier Sy

TR T HT9HET CRUSTACEAN &T 2rsg F4T faigelr Ssa?
[Question ID = 294351]

1. NRUSTACDAC [Option ID = 1143456]
2. NAECATSURC [Option ID = 1143457]
3. CRUSTACEAN [Option ID = 1143458]
4. NRUSTACEAC [Option ID = 1143459]

Correct Answer :-
» NRUSTACEAC [Option ID = 1143459]

11) If the first two Alphabets of the names of each month of the English calendar are to be exactly
reversed without changing the rest of the spelling, which of the following month shall appear fifth
from the start in an ordinary English dictionary?

Sret RerefRiFdie Teds A=A Arardie IRAT & HEARTET FHH ST 3d¢ Fedr ATOr arhe fdT 7
FEoTedTH, Grate YhY FOTAT ATKAT ATHTTT ST g IRATT ITIedT HHATHET ASar?

[Question ID = 294352]

1. February / thsar¥ [Option ID = 1143460]
2. September / Ee¢aR [Option ID = 1143461]
3. October / 3iferelsR [Option ID = 1143462]
4, December / f3&sX [Option ID = 1143463]

Correct Answer :-
« December / 38X [Option ID = 1143463]
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12) In a certain code language:

% ~ means Mobile Phone;
) & means Car Van;
% ) means Mobile Car.

How would Van Phone be written in the same code language?
v fafdrse aisfas samae:

% A~ FEUTS ANESA B,
) & FEUTH FR Fel;

% ) FEUTSr ANTEA

T gl BT 8T e AT Hihfas ANFAL FAT [AgT AT ?
[Question ID = 294353]

1. & ~ [Option ID = 1143464]
2. % A [Option ID = 1143465]
3. A % [Option ID = 1143466]
4. % & [Option ID = 1143467]

Correct Answer :-
o & ~ [Option ID = 1143464]

13) How many times does the various pair of vowels appear in the given series in the chronological
sequence as they would appear in an ordinary English dictionary?

ATATY SIS ASEHILT TTell e FARITAT AIEAINSAT SANSAT Wiellel ATforehd el doBT Jle fGHaTT?

EITIAOEUUOAIOEOAUIUEIOUUE
[Question ID = 294354]

1. 4 / ¥ [Option ID = 1143468]
2.7/ [Option ID = 1143469]
3.6/ & [Option ID = 1143470]
4.5/ 3 [Option ID = 1143471]

Correct Answer :-
e 7/ [Option ID = 1143469]

14) If Birju is the son of the brother of Gopi who is the father of the brother of Gopal, how is Gopal
related to Birju?
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SR TS &1 M= Srar=t Heram A S MUTT=AT HTar Tk HI0T 3HMed, o Marer favere HIY 36?7
[Question ID = 294355]

1. Nephew / &=T [Option ID = 1143472]

2. Cousin / Teld #13 [Option ID = 1143473]
3. Uncle / =1t [Option ID = 1143474]

4, Grandfather / 3TsitaT [Option ID = 1143475]

Correct Answer :-
e Cousin / geld #ATS [Option ID = 1143473]

15) If:

A & B = A is B's sister;
A~ B = Ais B’'s wife; and
A!B = Ais B's daughter,

Then, what relationship can be derived from the following status?
olX:

A 31T B = A Y B =Y 9fgor 3me;
A ~ B = A & B = gciY 3mmg; 3mfor

A!B = A# B qereft 32,
W, Grelter yrciawa Hora a1 gt a2
[Question ID = 294356]

1. O'is H’s Uncle / O & H dT a1ehT 31Te [Option ID = 1143476]

2. His O’s Uncle / H & O aT &It 3718 [Option ID = 1143477]

3. His O’s Father / H & O aT g3Ief 3¢ [Option ID = 1143478]

4. 0 is H’s Grandfather / O & H & 3fTsiiaT 3igd [Option ID = 1143479]

Correct Answer :-
e Ois H’s Uncle / O & H aT shret 371 [Option ID = 1143476]

16) Looking at a photo, Prerana said that, “This person in the photo is the only child of the nephew
of my husband'’s uncle”. How is the person in the photo related to Prerana?

HIEIHS TG, YO FgUTTell, * BIeTeier € saardl ATSAT TATAT FIHAT HEATY TFHeld U FoT e, "aT Bt
SFAT IOTTATT FIT AT 3?2

[Question ID = 294357]

1. Grandson / =T [Option ID = 1143480]
2. Wife / 9=t [Option ID = 1143481]

3. Daughter / #eralt [Option ID = 1143482]
4. Mother / 3 [Option ID = 1143483]

Correct Answer :-
« Daughter / #erft [Option ID = 1143482]
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17) If a family of 8 consists of at least 2 fathers, 3 wives, 2 grandchildren. There would be a
minimum of how many women in the family?

¢ VETTAT FEATHES FHIAHAT 2 TN, 3 Teall, 2 ATAAS AR, A AT FEATHER FHlawa! Fhclt AT sraclier?
[Question ID = 294358]

1.3/ 3 [Option ID = 1143484]
2.8/ ¢ [Option ID = 1143485]
3.6/ & [Option ID = 1143486]
4.2/ 2 [Option ID = 1143487]

Correct Answer :-
e 3/ 3 [Option ID = 1143484]

18) My wife’s brother’s wife’s mother-in-law’s son-in-law would be related to my wife’s mother-in-
law as her:-

HTSIT Yool 1T HTATEAT Yoal 1edT UIGEAT SITEATET AT eattedT Argefl 1 A1 3me? [Question ID = 294359]

1. Grandson / =T [Option ID = 1143488]
2. Husband / 9diY [Option ID = 1143489]
3. Son / #He1am [Option ID = 1143490]

4. Nephew / 8=t [Option ID = 1143491]

Correct Answer :-
* Son / Hefdm [Option ID = 1143490]

19) How would Manmeet be related to the wife of the grandson of Manmeet’s mother?

AAHITTIT HTETAT ATTATAT Yo HIa T HAATY ATd 1T 3AA? [Question ID = 294360]

1. Father-in-Law / 9181 [Option ID = 1143492]
2. Father / @3ref [Option ID = 1143493]
3. Uncle / sp1arT [Option ID = 1143494]
4, Grandfather / 3TSitaT [Option ID = 1143495]

Correct Answer :-
» Father-in-Law / 91837 [Option ID = 1143492]

20) If:

D is the Son of S;

W is the Husband of H;
S is the Daughter of H.
How is D related to W?

oY

D & S |1 {edI 3Te;
W &T H =7 adt 31¢;
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S & H < agerah a2,

aX D ¥ W qad ATd 1 31¥a? [Question ID = 294361]

1. Grandson / =T [Option ID = 1143496]
2. Daughter / Jg?-«l?ﬁ [Option ID = 1143497]
3. Son / HetaT [Option ID = 1143498]

4, Husband / 9dr [Option ID = 1143499]

Correct Answer :-
e Grandson / GG [Option ID = 1143496]

21) If Zeba was to write down all the digits that appear on the dial of on ordinary landline
telephone instrument, what shall be the sum total that she shall arrive at if she was to add each one
of them?

i vt 8 Rt @rgar?
[Question ID = 294362]

1. 44 / 9 [Option ID = 1143500]
2. 45 / ¥ [Option ID = 1143501]
3. 55 / 33 [Option ID = 1143502]
4. 100 / too [Option ID = 1143503]

Correct Answer :-
e 45/ ¥ [Option ID = 1143501]

22) The calendar for the year 2016 is same to the one which was used last time in which of the
following years?

GTATeTdhT FITT eI 30T 02 = eI 391 FRE aid?
[Question ID = 294363]

1. 2007 / 00l [Option ID = 1143504]
2. 2000 / 2000 [Option ID = 1143505]
3. 1988 / 2:¢¢ [Option ID = 1143506]
4. 2012 / 0% [Option ID = 1143507]

Correct Answer :-
e 1988 / 2¢¢ [Option ID = 1143506]

23) While observing a special dice, Taahi notices that Numbers 1, 2, 3 are immediately adjacent to
one another. Which of the following would most probably be false about this dice?

ey sTewr fAdieTor wa srwdie, arfeer T 3T Y, ¢,3,3 T IHF TNT THARIAT qTS[elT Hed. o} SIFHAG
WY F1T T HWUITE AT A5 ?

[Question ID = 294364]
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1.4, 5, 6 are immediately adjacent to one another / §,4,& § oI3TT TehAIehT=aT STolelT 3MTél [Option ID = 1143508]
2. 2,3,4 are immediately adjacent to one another / 2,3,¥ & o2T<l UshaehiedT dTs[ell 37T [Option ID = 1143509]
3. 4 and 6 are exactly opposite one another / ¥ 3107 & TehAHAT 391ET fawg 3Med [Option ID = 1143510]

4. 1 and 6 are exactly opposite one another / ¢ 3TTOT & § TUshHehIAT 379141 fa%g 3Med [Option ID = 1143511]

Correct Answer :-

« 4 and 6 are exactly opposite one another / ¥ 37I0T & TehAIAT 39TET Ta®g 31ed [Option ID = 1143510]

24) Maalhi is playing with 3 ordinary dice and gets the numbers 2, 4, and 5 on each of those
respectively. What shall be the product of the numbers that shall appear on the sides which shall be
exactly opposite to the sides that Maahi got?

HIEY 3 WA ST6H U3 Wasd 3T 3TOY fam 2, ¥ 3nfor ¢ 3@ ray 3 s Aed. A o o7 AT AT
3TEY 3T FTSAT AT STEWAR AT ATFHA afer el gder?

[Question ID = 294365]

1. 40 / 8o [Option ID = 1143512]
2. 30 / 30 [Option ID = 1143513]
3. 36 / 35 [Option ID = 1143514]
4. 14 / t¥ [Option ID = 1143515]

Correct Answer :-
e 30/ 30 [Option ID = 1143513]

25) A dice having six faces has been coloured Purple, Pink, Peach, Pearl, Yellow and Azure on each
of its sides. Further, if Purple side is exactly opposite to Pearl side and Peach is immediately
adjacent to Yellow and Azure side, which of the following shall be most probably true?

HET ATo], AT STEHAT TeAF Frola} el Jarat, g, Afaar T, Rasr sufor st @1 3m. g8, ST et
1o AT arsear fawg e sr@er anfor o Rrawar @ et Fmear (e 3@, a¥ SreliedthT 7 a0a
IHUATHY AT 3R ?

[Question ID = 294366]

1. Peach Side is exactly opposite to Azure Side. / r=I STS[ 3MehTeft sTef=ar fa®g 31T, [Option ID = 1143516]

2. Peach Side is exactly opposite to Yellow Side. / drer 7] fdeedr sTefedm fa%g 31¢. [Option ID = 1143517]

3. Pink Side is exactly opposite to Yellow Side. / J[elTelY aTf faear srefear fawg 31me. [Option ID = 1143518]

4. Pearl Side is immediately adjacent to Peach and Purple Side. / RT3 STe] dr=r 311707 STisTeodT STl AT 3778,
[Option ID = 1143519]

Correct Answer :-
» Pink Side is exactly opposite to Yellow Side. / Ulﬂﬁr arq\ﬁa'—moo STo=ar Ta%g 31e. [Option ID = 1143518]

26) Wafaa wants to colour all sides of a particular cube, so, what is the minimum numbers of
colours she needs to use such that no two adjacent sides have identical colours?

THT AT THT SIFoITSAT §E TS[AT 17 AT TR, AT Gl ATo(aT W1 TRET A 7 Fgolet forerm el Lo araw
HIOYT JTTRIHAT 3T ?

[Question ID = 294367]
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1. 3/ 3 [Option ID = 1143520]
2.2 /2 [Option ID = 1143521]
3. 6/ & [Option ID = 1143522]
4.5/ 9 [Option ID = 1143523]

Correct Answer :-
e 3/ 3 [Option ID = 1143520]

27) One big cube which is painted Silver on all the sides is cut into 125 smaller cubes of equal size.
How many such smaller cubes shall have no paint on their face?

T FTfelt T T AT T ANGAT AF@AT 239 FHIA HTHFRT AETT Shad FITA. iy frclt argTer

[Question ID = 294368]

1. 8/ ¢ [Option ID = 1143524]
2.9/ ] [Option ID = 1143525]
3.27 / % [Option ID = 1143526]
4. 16 / 25 [Option ID = 1143527]

Correct Answer :-
e 27 /R [Option ID = 1143526]

28) Queenie is seeing time in her watch through a mirror. She can see the time as 6.30 in the
mirror. What time shall it be actually at that instant?

et smena fasar asamardia de uigd. d<gt faem fa<ar asarard &.3¢0 arsrad feadard. aX caraa! @ favd) arerer
Ra?

[Question ID = 294369]

1. 6.30 / &.30 [Option ID = 1143528]
2. 5.30 / 4.30 [Option ID = 1143529]
3. 12.30 / §2.30 [Option ID = 1143530]
4.1.30 / ¢.30 [Option ID = 1143531]

Correct Answer :-
e 5.30/ 4.30 [Option ID = 1143529]

29) Pratap’s clock strikes once at 1 o’clock, twice at 2 o’clock and so on. It takes exactly 6 seconds
to finish its striking at 3 o’clock. How much time would it take to strike at 9 o’clock?

YATI=AT ST ¢ TSIl ¢ ST ISdl, ¥l aTSTelT R 3l ISdTd HTOT ATHATIN Y& S ISl ITell 3 TSIl Sk
JSUGTHTS! & Vhe ATITATT X & ATl 3% TSUITHTS! ATeT fhedl %5 amarer?

[Question ID = 294370]

1. 21 seconds / ¢ ¥ag [Option ID = 1143532]
2. 24 seconds / ¥ Tehe [Option ID = 1143533]
3. 18 seconds / %¢ ke [Option ID = 1143534]
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4, 12 seconds / ¢2 Hdhe [Option ID = 1143535]

Correct Answer :-
e 24 seconds / % Hhe [Option ID = 1143533]

30) If Tim’'s watch loses 4 seconds every 40 minutes, it shall take how many hours to lose 60
minutes?

R A U3UTS TS Yo AT ¥ Aehg AN Usd 3, X €0 AR AT IsvraTdt caren et 3 amra?
[Question ID = 294371]

1. 3600 / 3800 [Option ID = 1143536]
2. 600 / &oo [Option ID = 1143537]

3. 4000 / gooo [Option ID = 1143538]
4. 36000 / 3&o00 [Option ID = 1143539]

Correct Answer :-
e 600 / €00 [Option ID = 1143537]

31) In 12 hours, how many times are the minute and hour hands of an ordinary clock exactly in
opposite direction to one another?

$R ALY, AT SIS R H1eT T a1 H1eT fhdl 3T vhAwar [Awg f&ed sr@ara? [Question ID =
294372]

1. 24 / 9 [Option ID = 1143540]
2. 12/ 22 [Option ID = 1143541]
3.11/ ¢¢ [Option ID = 1143542]
4. 22 / 3R [Option ID = 1143543]

Correct Answer :-
e 11/ ¢¢ [Option ID = 1143542]

32) Kewal, a resident of Jodhpur is running towards the North direction at 5 p.m. on a clear summer
evening. His shadow shall most likely be falling towards which direction?

ST TGOTRT Fael IegledTcilel Ul AT WRAHTS! 4 AreTaT el fGa 1 STerelr. AT |rael Hrorear farar
gsvaTH e areFar 3me?

[Question ID = 294373]

1. South / gf&yoT [Option ID = 1143544]
2. East / 94 [Option ID = 1143545]

3. West / 9fas [Option ID = 1143546]
4, North / 3caR [Option ID = 1143547]

Correct Answer :-
« East/ qd [Option ID = 1143545]

33) If South-East was to become North, North-East to become West and so on, then, West shall
become which of the following directions?
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ST 3T eI 3ea¥ detell, Sy forer wftesr aerelY 3nfor amw=mor qg, a¥, afves R
[Question ID = 294374]

1. South-West / &f&yoT — 9f¥aa %k [Option ID = 1143548]
2. North-East / 3cai — 94 $2= [Option ID = 1143549]

3. South-East / a’r‘ﬂw—g'c‘r 319 [Option ID = 1143550]

4, North-West / 3caR — 9f¥a# arged [Option ID = 1143551]

Correct Answer :-
« South-East / &f&I0T-gd 3317 [Option ID = 1143550]

34) Ginii is going towards South, she then turns left and goes straight before turning left again.
Then she turns towards the East. She shall be facing which direction now?

el gfaoes oY, st off STl gaa Infor geer sTellens a@uanamt W@ ST, Fa¥ off gdfHs aad. av o amar
FIOTET e s FEa oY 3me?

[Question ID = 294375]

1. West / 9f=r#7 [Option ID = 1143552]
2. South / &f&YoT [Option ID = 1143553]
3. North / 3caX [Option ID = 1143554]
4. East / & [Option ID = 1143555]

Correct Answer :-
« East /9 [Option ID = 1143555]

35) Six friends, namely, Yummy, Yini, Yashika, Yagna, Yami and Yash are sitting around a round
table facing towards the Center. If:

Yini and Yami are sitting immediately next to one another;
There is at least one person sitting between Yummy and Yashika;

None amongst Yami and Yummy are sitting immediately next to Yashika; and
Yagna is not sitting exactly opposite Yash.

Which of the following is most probably true?

T, Rah, nflre, dvere, and snfor aer & wer BF-AfRr v adeER Taasiad vaAFESdls FT awedr
TR, ST

Rafa anfor ar veAdiTan sera Ao swear anea.

IFHAY 3for AT FreaTed FATHAT v s aHel I,

ATt TOT AT AT Fofidt arflwAT aISTAT awd A, I
N FereAT fag fera awelel AT

X TIEAYHI FIUTT THT Ted FAUVATH AFIAT HR?

[Question ID = 294376]
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1. Yami is not sitting immediately next to Yummy. / JT#t T&#I=aT STSfeT SHelell ATEY. [Option 1D = 1143556]
2. Yami is sitting immediately next to Yummy. / ITeT J&HT=aT STS[ell S&elell 31T, [Option ID = 1143557]

3. Yashika is sitting exactly opposite Yagna. / TTfIeT JN9TATAT fa%g fEQrelr sielell 318, [Option ID = 1143558]
4. Yini, Yash and Yagna are sitting immediately next to one another. / Rfa, rer 3fOY JTAT ThARTAT ST

J&elel 3Ted. [Option ID = 1143559]

Correct Answer :-

« Yami is not sitting immediately next to Yummy. / ITT JFHEAT STJell SHelell #ATET. [Option ID = 1143556]

36) Five persons, namely, H, K, O, Z and R are sitting on a straight bench at a railway station all

facing the same railway track. If:

Z and K are not sitting immediately next to one another;
R, H and K are sitting towards the right of Z;
At least one person is sitting on either side of K; and

O is sitting at one end of the Bench.

Which of the following is most probably false?

H, K, O, Z 3nfor R 4T 9T caadl U1 Iod Chahs dlis et Jod TEATU ThT TS ada¥ e ATed. -

Z 3nfor K ThAF=ar AR T8 AT,

R, H 37Tf0r K § Z =T 351di&s qdele 3Ted,

K =T STS[elT FHITFHHT T sqercdl aqerell 3Tg, 3for
O T ST<4T TahT ATl SHa T 3R

FTelertsh F1 TR FHUITH et g2

[Question ID = 294377]

1. R is sitting at the exact middle of the Bench / R & sia=ar #egs1REft s¥erel 318, [Option ID = 1143560]
2. O is sitting immediately to the left of Z / O &T Z TAT STATETS eIl s¥elell 378, [Option ID = 1143561]

3. Z is sitting to the immediate right of H / Z 8T H =31 35731 STofell si¥elell 378, [Option ID = 1143562]
4. K sitting immediately to the right of R / K & R =IT 35T STofell SHelell 37e. [Option ID = 1143563]

Correct Answer :-

* Zis sitting to the immediate right of H / Z T H =T 351<AT STS[ell sT&elell 37, [Option ID = 1143562]

37) If Orrita is to the South of Om but West of Omi who is to the East of Oscar and Omkar is to the

North of Oscar but West of Om. Who is towards the South-West?

ST R T giRTOien AT 9 AT aREeeT e St ieFTear qder 3R I HFER HFHTEAT Seavws

T I AT qRTAET H1E. SfRvor gfar Hior me?
[Question ID = 294378]

1. Oscar / 37T [Option ID = 1143564]
2. Omi / 37T [Option ID = 1143565]
3. Om / 301# [Option ID = 1143566]
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4, Orrita / 3@ [Option ID = 1143567]

Correct Answer :-
o Oscar / 3t [Option ID = 1143564]

38) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.
C) If both I and II follow.

D) If neither I nor II follows.

Statement I: All Indian women are studious
Statement II: Rujuta is an Indian woman who failed her graduation final examinations last year.
Conclusion I: All Indian men are bad students.

Conclusion II: Rujuta shall need to appear for the examinations again in order to become a
graduate.

I 3Tfor IT a1 ferare 1 3oy 11 3 g ol e, o oot Jv#Tor sigar:

A) Fae faoia I & 8 e

B) ¥aa faolr I &mey 81 3raeamrs

C) a2 I 31Or I &) Bl 3rHear

D) I 3nfer II &)oY A Bl AWeATH

et I : 9 el wfgar sreamy ame.

freeT 11: Tar SRl wfga 3me St smerea adft gediean sifas ademed sreqedior el ame.
forotar 1: 99 st g arse Rgamdt smea.

fAroTTr I1: FScTeT Tedie @UaraTdT TreT TRETST SHoATH IR 3.

[Question ID = 294379]

1. A [Option ID = 1143568]
2. B [Option ID = 1143569]
3. C [Option ID = 1143570]
4. D [Option ID = 1143571]

Correct Answer :-
e B [Option ID = 1143569]

39) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.
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C) If both I and II follow.
D) If neither I nor II follows.

Statement I: Prime time on Indian Satellite Television has changed the way Indians eat their dinner.

Statement II: Dinner is the most important meal for most Indian families.

Conclusion I: Television prime time is when most members of the Indian families are at home
together.

Conclusion II: Indian families prefer having Dinner together.

I 3for II a1 femarir I 3nfor 11 3 Qe fohr smea. g Seax arg#or Aigar:
A) Fae Aoy I & 8 s

B) ¥aa farolr II amep 8 3raears

C) aE I 30T I &) Bl 3 Hear

D) I 3nfer II &) AT gl AHeATH

faemeT Ik sy Hease Tafteaaadie W@ d3A @ HRCAIII<AT IEAT AFUITEAT AT TegedT e,
fauTe I1: qgd® ARAT FEarard! T Sqor 3T Hgearar ITER e,

fta I: fdcioreradier 7T 9w € 3rel 3 e SiogT HRCAT FEaTdler Fgah Hedd ThiAd Tl IHaTd.
faroiar I1: SRR Fgaran e e 3rasa.
[Question ID = 294380]

1. A [Option ID = 1143572]
2. B [Option ID = 1143573]
3. C [Option ID = 1143574]
4. D [Option ID = 1143575]

Correct Answer :-
e C[Option ID = 1143574]

40) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.
C) If both I and II follow.

D) If neither I nor II follows.

Statement I: An Apple a day by people at home keeps the Nurses idle at Hospitals.

Statement II: Apples are Red, Berries are Blue, and people who work for Airlines are called crew.
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Conclusion I: All Nurses hate Apples.

Conclusion II: Airlines serve only Red Apples and Blue Berries to their passengers.

I 3fOr I1 3 fereire I oY I 31 @ fAoher 3. A ool ATv#ATY Sigar:
A) Faa Aoty I & 8 s

B) ¥aa faolr I amy 81 3rvear

C) a2 I 31Or II &) Bl 3rHear

D) I 3for I1 2T o] At sTaeary

fera I eRreed Arehge Raurer Ast v AHEIAS FIOMEATT IRATRETT Areselt gaadrd.
et I1: aog a1 3rward, 8 fAear srwdrd, for TaRemses 7Ed F1 FIOMAT AHiar F Fgordrd.

Aoty I: d R e FwIEeET W FIATd.
ol I1: TAaTSg cI=aT a1+l $da ol hdae ATor fedr o &3 wydard.
[Question ID = 294381]

1. A [Option ID = 1143576]
2. B [Option ID = 1143577]
3. C [Option ID = 1143578]
4. D [Option ID = 1143579]

Correct Answer :-
o D [Option ID = 1143579]

Topic:- Final Marathi

1) @relier areFaid Rerar el AT 99T AT
‘HTST' §T 2reg "HIY' AT e TdaveT TAR STl 3TE.
[Question ID = 294101]

1. FIA3Y [Option ID = 1142460]
2. BRAY [Option ID = 1142461]
3. §&hd [Option ID = 1142462]
4, 3RET [Option ID = 1142463]

Correct Answer :-
« HEHA [Option ID = 1142462]
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2) grdier arFaTd Reerar Sl I oAty fAasr.
[Question ID = 294102]

1. 378X [Option ID = 1142464]
2. 319X [Option ID = 1142465]
3. 37 [Option ID = 1142466]
4. &X [Option ID = 1142467]

Correct Answer :-
o 378X [Option ID = 1142464]

3) wrelie arrgTd Reprear sl Aoy g3y fAgsr.
AR g« a FIvaT™ |H FEUS .
[Question ID = 294103]

1. &1 [Option ID = 1142468]
2. #TST [Option ID = 1142469]
3. #AY [Option ID = 1142470]

4, AN [Option ID = 1142471]

Correct Answer :-
o ST [Option ID = 1142469]

4) grdiie g Rerar Jrel I 997y @gEr.
HERTAT FEUTATd.
[Question ID = 294104]

1. efa=g [Option ID = 1142472]
2. AT [Option ID = 1142473]
3. eafafieg [Option ID = 1142474]
4, gref=g [Option ID = 1142475]

Correct Answer :-
o eafafdeg [Option ID = 1142474]

5) "reliel arad RraT SRl A9 93y fagsr.
a g amasarg_ 91 fasred veIw 3md |
[Question ID = 294105]

1. IoTAT [Option ID = 1142476]
2. 9Tt [Option ID = 1142477]
3. 9U&T [Option ID = 1142478]
4. a4l [Option ID = 1142479]
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Correct Answer :-
o HTAAT [Option ID = 1142476]

6) eI AreeTaT A9y faarE st

Jarr’
[Question ID = 294106]

1. 3T + 37 [Option ID = 1142480]
2. Jdr + 318 [Option ID = 1142481]
3. & + 37¢ [Option ID = 1142482]
4, Idr + I [Option ID = 1142483]

Correct Answer :-
o Idr + 37T [Option ID = 1142481]

7) YA ArsaTHT Ay fawg vyt reg At
\ml
[Question ID = 294107]

1. 37Y [Option ID = 1142484]

2. 313cY [Option ID = 1142485]
3. 379%Y [Option ID = 1142486]
4, T3y [Option ID = 1142487]

Correct Answer :-
« 3799 [Option ID = 1142486]

[Question ID = 294108]

1. #irait [Option ID = 1142488]
2. #YAT [Option ID = 1142489]
3. AgreT [Option ID = 1142490]
4, HAT [Option ID = 1142491]

Correct Answer :-

« AT [Option ID = 1142489]

[Question ID = 294109]
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1. ATAOT [Option ID = 1142492]
2. ATAIET [Option ID = 1142493]
3. #AT&S [Option ID = 1142494]

4, ATTS [Option ID = 1142495]

Correct Answer :-
o HTAIUT [Option ID = 1142492]

10) ST HERTET ITAR ATHITA Fell STl AT HERTER
[Question ID = 294110]

1. 377¥a) [Option ID = 1142496]
2. derer [Option ID = 1142497]
3. AT [Option ID = 1142498]

4. TP [Option ID = 1142499]

Correct Answer :-
o JIER [Option ID = 1142496]

11) TETEAT QTR AN GATATET HHATH
[Question ID = 294111]

1. AW [Option ID = 1142500]
2. 3qUITaRTA [Option ID = 1142501]

3. 3aRuTfdeg [Option ID = 1142502]
4, TgeqfaTA [Option ID = 1142503]

Correct Answer :-

o 3FacRurfdeg [Option ID = 1142502]

12) QI AT Useran A9 faarg fasr.

‘HEGRHAA'

9

[Question ID = 294112]

1. % &9 7@ [Option ID = 1142504]
2. F@TeT HHA [Option ID = 1142505]
3. F@ & [Option ID = 1142506]

4. 7@ g9 F# [Option ID = 1142507]

Correct Answer :-
« H@ g HHFA [Option ID = 1142507]

13) VAR & TF Igar|
[Question ID = 294113]

1. 2rsq [Option ID = 1142508]

GET IT ON
Google Play
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2. ArsgHE [Option ID = 1142509]
3. 3781 [Option ID = 1142510]
4. AEIUFHIOT [Option ID = 1142511]

Correct Answer :-
» AscHHg [Option ID = 1142509]

14) qdier erseren AT g fAasr.

‘HchcddH’

9

[Question ID = 294114]

1. 31fa + 3cas [Option ID = 1142512]
2. 3T + 3ca# [Option ID = 1142513]
3. 37% + d# [Option ID = 1142514]
4. 31fd + A [Option ID = 1142515]

Correct Answer :-
o 3Hfa + 3cad# [Option ID = 1142512]

15) qéI arFTaRTET A9 3d faasr.
‘SodEdT ATHST
[Question ID = 294115]

1. I [Option ID = 1142516]

2. dX [Option ID = 1142517]

3. &g [Option ID = 1142518]

4, 3M9erquTr [Option ID = 1142519]

Correct Answer :-
« & [Option ID = 1142517]

16) qdter areFyaRTET A9y I s
[Question ID = 294116]

1. 3918 0T [Option ID = 1142520]

2. 397l TgToT [Option ID = 1142521]

3. U3 %I WUt [Option ID = 1142522]

4, Y3 I 3Masur [Option ID = 1142523]

Correct Answer :-
o 3aeft I@MOT [Option ID = 1142521]
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qérer FEOT YUt 1.
@YD WIOTR TelT

[Question ID = 294117]

1. S AFTOTR [Option ID = 1142524]
2. ¢d UTR [Option ID = 1142525]

3. ST fABUIR [Option ID = 1142526]
4., ST FHIOTR [Option ID = 1142527]

Correct Answer :-
« 29 2UIR [Option ID = 1142525]

18) qdrer FgoT qoT F1.

ST HTTET AU

[Question ID = 294118]

1. ge=ar [Option ID = 1142528]

2. ARETATY [Option ID = 1142529]
3. S¥eleard [Option ID = 1142530]
4, IrIoT=ITH [Option ID = 1142531]

Correct Answer :-
* Yo [Option ID = 1142528]

19) eI 31YE ST U Aeq fAasT.
‘reareier
[Question ID = 294119]

1. sresdrer [Option ID = 1142532]

2. FicTeier [Option ID = 1142533]
3. SIcTTAHTer [Option ID = 1142534]
4, sprérefrer [Option ID = 1142535]

Correct Answer :-
o aplIcgeer [Option ID = 1142533]

20) ‘g9’ T A5 TENTART FIOTCAT I ST HTeAT 3182
Ay 991y fAgsn.
[Question ID = 294120]

1. @&hd [Option ID = 1142536]
2. 3T [Option ID = 1142537]
3. ISiT [Option ID = 1142538]
4. fé<r [Option ID = 1142539]
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Correct Answer :-
« HEHA [Option ID = 1142536]

Topic:- Final Electrician

1) The opposition offered to the flow of the current is known as:-

ASTyaTgTeT ST YfARIUTAT WTellerdsh! F1T 70l AHd@d J1d? [Question ID = 296223]

1. Resistance / I1er [Option ID = 1152344]

2. Conductance / 9agsT [Option ID = 1152345]

3. Inductance / Jaciedr [Option ID = 1152346]

4. Electrostatic field / faegdfeufdes &7 [Option ID = 1152347]

Correct Answer :-
« Resistance / I¢T [Option ID = 1152344]

2) As per the colour code of the resistor, if the digit value is 8, then what is the colour of the band?

AT AiHfa® TN FHATAR, S AT Hed ¢ HA, T AT TZATET T HI0TAT 3JG? [Question ID =
296224]

1. Black / @TasT [Option ID = 1152348]
2. Brown / d9feRdr [Option ID = 1152349]
3. White / &g [Option ID = 1152350]
4, Grey / @13 [Option ID = 1152351]

Correct Answer :-
e Grey / T@raY [Option ID = 1152351]

3) If the voltage or current is varying with respect to time but has the same polarity, then it known
as:-

R faggaare et faega vaTe d@atie agad 38, 90T AT (NefREY) Yaar vearaT 38, av e
FgUIdTd:- [Question ID = 296225]

1. Unidirectional source / TsfefIe & [Option ID = 1152352]

2. Positve source / &7 G [Option ID = 1152353]

3. Negative source / 0T @i [Option ID = 1152354]

4. A.C. voltage source / T. 8. fdegders @l [Option ID = 1152355]

Correct Answer :-
« Unidirectional source / TsfcfI% &1d [Option ID = 1152352]

4) A network is said to be when excitation and response terminals could be
interchanged.

SiegT 39 HTTOT UfAHTE 3737 ATl rcelTacel Fall T3 Ahd, gl AT Acahdl Fgeo Ad. [Question
ID = 296226]

1. reciprocity / 3/=dl=aar [Option ID = 1152356]
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2. lamped network / ¥safard sicas [Option ID = 1152357]
3. bilateral network / gfa9afr sicae [Option ID = 1152358]
4. linear network / YT Aeas [Option ID = 1152359]

Correct Answer :-
« reciprocity / 37=al=adr [Option ID = 1152356]

GET IT ON
Google Play

5) The lowest energy state is known as:-

eTaH Jorean feude

1. Excited / 3cafaid [Option ID = 1152360]

2. Normal / &1HT=T [Option ID = 1152361]

3. Radiating / 9RofT (Xf3Ufear) [Option ID = 1152362]
4, Critical / #Figccardr [Option ID = 1152363]

Correct Answer :-
« Normal / G1HTT [Option ID = 1152361]

Fgurdid. [Question ID = 296227]

6) Which of the following is a poor conductor of electricity?

Frelterter Hordt e fasram ve fgrse aee 3me? [Question ID = 296228]

1. Aluminium / TegfATIae [Option ID = 1152364]
2. Silver / Tér [Option ID = 1152365]

3. Copper / s [Option ID = 1152366]

4, Diamond / f&31 [Option ID = 1152367]

Correct Answer :-
« Diamond / &7 [Option ID = 1152367]

7) By measuring conductivity ‘o’ the mobility ‘p’ can be calculated by using:-

qEHdT ‘0’ T A Feard, Afaiiadr 'y’ =@ Grell MsE=AT 3TAT FE6aT A0 FIaT Ad. [Question ID = 296229]

1. Hall coefficient / ﬁﬁw [Option ID = 1152368]
2. Hall current / gfeT et yatg [Option ID = 1152369]
3. Hall effect / gfer IR [Option ID = 1152370]

4. Hall volatge / &Ter fdegcrers [Option ID = 1152371]

Correct Answer :-
o Hall effect / gTer aRomeT [Option ID = 1152370]

8) What is the unit of reverse recovery time?

Regd Reradl T€H I v 19 3M8? [Question ID = 296230]

1. Ns / TATH (7gg=T @ehg) [Option ID = 1152372]
2. Pf / diuws (Rasptys) [Option ID = 1152373]

3. Mw / UHSseq (AeTaed) [Option ID = 1152374]
4, PA / UT (ATISRITTFIAR) [Option ID = 1152375]

Correct Answer :-
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+ Ns /U0 (74T @eha) [Option ID = 1152372]

9) Which types of robots are used in education?

Fa1fe ST FIoTedT THRY VdleH I ATdTa?
[Question ID = 296231]

1. Artificial intelligence / 33 fg#cdT 3r&eler [Option ID = 1152376]
2. General / G1dATT [Option ID = 1152377]

3. Industrial / 3ﬂa‘éﬂﬁﬁ [Option ID = 1152378]

4, Hobby robot / gifer & [Option ID = 1152379]

Correct Answer :-
 Hobby robot / gIf§ As&te [Option ID = 1152379]

10) The binary number system is also known as:-

gfAATe FEdT (S AaR YoTTell) SuaEdaTd) § AT SEie 3R -
[Question ID = 296232]

1. Base 2 system / TR R ggdr [Option ID = 1152380]
2. Base 4 system / 3R ¥ Ggdr [Option ID = 1152381]
3. Base 6 system / HTYR & Ygdr [Option ID = 1152382]
4, Base 8 system / 3TIR ¢ 9gdr [Option ID = 1152383]

Correct Answer :-
 Base 2 system / 3T 2 Igdl [Option ID = 1152380]

11) The number 28 equals to in decimal.

FRATY Tl ¢ & gde 3Te. [Question ID = 296233]

1. 256 / & [Option ID = 1152384]
2. 128 / %3¢ [Option ID = 1152385]
3. 512 / 4% [Option ID = 1152386]
4.120 / %20 [Option ID = 1152387]

Correct Answer :-
e 256 / 1€ [Option ID = 1152384]

12) Given symbol indicates which logic gate?

e R Ao wifors de giaa Fa?
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[Question ID = 296234]

1. AND gate / Tua3T 3¢ [Option ID = 1152388]

2. OR gate / 3137 3¢ [Option ID = 1152389]

3. NOR gate / TI30I3R 31T [Option ID = 1152390]
4. NAND gate / TATT=2I 3 [Option ID = 1152391]

Correct Answer :-
« OR gate / 37131 31 [Option ID = 1152389]

13) Devices located outside the CPU are known as:-

Hdrear 18T IrHeear IYFTAT 3 FgoraTd. [Question ID = 296235]

1. Data / eT [Option ID = 1152392]

2. Bus / & [Option ID = 1152393]

3. Memory unit / #FRY g€ [Option ID = 1152394]

4, Peripheral devices / 9RET 39a0r [Option ID = 1152395]

Correct Answer :-
o Peripheral devices / 9T 39aor [Option ID = 1152395]

14) What is the processor speed of basic stamp microcontrollers BS1-IC modules?

IRF T AFFCEH dvwe-3maH Asgeasar N/ATE! At F1F 377a? [Question ID = 296236]

1. 20 MHz / 20 31 g¢37 [Option ID = 1152396]
2. 8 MHz / ¢ ®a1 g7 [Option ID = 1152397]
3.4 MHz / 8 ®1T g7 [Option ID = 1152398]
4, 50 MHz / $o 3T g¢aT [Option ID = 1152399]

Correct Answer :-
e 4 MHz / ¥ ®31 g¢a7 [Option ID = 1152398]

15) A has complexity from 12 to 99 gates.

TH ALY 2 o /R ANH HIFcaA AT IAATd. [Question ID = 296237]

1. medium scale integration / FET# AU HehetoT [Option ID = 1152400]

2. small scale integration / &g ofl HehefeT [Option ID = 1152401]

3. very large scale integration / fa2rmer Soft EeheteT [Option ID = 1152402]

4, ultra large scale integration / 3Tfafaemer Suft Hehelel [Option ID = 1152403]

Correct Answer :-
« medium scale integration / FEIH o HheleT [Option ID = 1152400]

16) The speed regulation of a series motor is than that of a shunt motor.

w1 RS Aler=ar rd fAgd e Aledan 319d. [Question ID = 296238]

1. Same / @#TA [Option ID = 1152404]
2. Constant / T [Option ID = 1152405]
3. Varying / S&eoTR [Option ID = 1152406]
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4. Poor / fairse [Option ID = 1152407]

Correct Answer :-
« Poor / feigrse [Option ID = 1152407]

GET IT ON
Google Play

17) EMF which always opposes the flow of a current in motor operation is known as:-

AT FTATT ThT AT T FIAH fART FI0AT STATHAT FEUTAT.

[Question ID = 296239]

1. Counter / 7a%g [Option ID = 1152408]

2. Torque / @& [Option ID = 1152409]

3. Shaft torque / 3187 2feh [Option ID = 1152410]
4. Flux / 9arg [Option ID = 1152411]

Correct Answer :-
« Counter / 7a%g [Option ID = 1152408]

18) In DC motor, the dc supply is switched on with starting handle in the

It Arere, St QasT gE FIoAT giEt ferdla a3 g% Fam.
[Question ID = 296240]

1. OFF / §< [Option ID = 1152412]

2. ON / @iTe] [Option ID = 1152413]

3. Neutral / 377 (3g11eT) [Option ID = 1152414]

4. Reverse / Serear fg2ra (Regd) [Option ID = 1152415]

Correct Answer :-
« OFF / §¢ [Option ID = 1152412]

19) What is cylindrical in shape and mounted on the shaft?

FOTCY IS ESIMNNT ITHRTT 3T 30T 3r877aT (ANwFe) swfadel raa?
[Question ID = 296241]

1. Poles / ¢d (91ew) [Option ID = 1152416]

2. Yoke / S (3er) [Option ID = 1152417]

3. Field windings / &1 $sel (ftheg argfegar) [Option ID = 1152418]
4, None of these / 31# & &I sIfg [Option ID = 1152419]

Correct Answer :-
* Yoke / 3 (F1e) [Option ID = 1152417]

position.

20) In which instant, the plane of the coil is perpendicular to the direction of the magnetic field?

AT FH, Figerd! TSt gahrg &1=mf & 37a? [Question ID = 296242]
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1. Instant 4 / 59T ¥ [Option ID = 1152420]
2. Instant 3 / 99T 3 [Option ID = 1152421]
3. Instant 2 / 99T R [Option ID = 1152422]
4, Instant 1/ 99T ¢ [Option ID = 1152423]

Correct Answer :-
o Instant 1/ 9&9T ¢ [Option ID = 1152423]

21) Which part of the DC machine consists of the following functions?

1) To facilitate the collection of current from the armature conductors
2) To produce unidirectional torque in case of motors

Y TATTAT HIUTT AT GTellel FIR FTATT?

1) 3R ATEHTIRGT fasr=aT WAOTAT FHT Fofaor
2) Ared=ar HeHTd vhigelT e At wyor
[Question ID = 296243]

1. Brushes / @il (s71) [Option ID = 1152424]

2. Bearing / §:311aT1 [Option ID = 1152425]

3. Commutator / F#geex (faegdvare) [Option ID = 1152426]
4, Shaft / e [Option ID = 1152427]

Correct Answer :-

« Commutator / ##geeX (faegdyarg) [Option ID = 1152426]
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22) Which type of winding is mainly used in induction machines and synchronous machines?

gseret AT 0T ReshieTw ARTAEY YRTEaTa FITAT YHRA 13189 arRa AA? [Question ID = 296244]

1. Open type winding / GeaT 9 aTsfSaT [Option ID = 1152428]
2. Lap winding / ofa arsfsat [Option ID = 1152429]

3. Armature winding / 3T#=R arsfser [Option ID = 1152430]

4. Double layer winding / &fa®a{rar arsfsar [Option ID = 1152431]

Correct Answer :-
« Open type winding / @edT YR a1$f397 [Option ID = 1152428]

23) What is defined as the distance measured between two coil sides which are connected to some

commutator segment?

RegavareTeaT F1é TSI NSACAT FIeeAT &Nt AT HaH F1T Fgorara? [Question ID = 296245]

1. Back pitch / #Arfrer T [Option ID = 1152432]

2. Pole pitch / gter &= [Option ID = 1152433]

3. Winding pitch / asf3sT = [Option ID = 1152434]
4, Front pitch / @AY @@ [Option ID = 1152435]

Correct Answer :-
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e Front pitch / ¥#Rrer faar [Option ID = 1152435]

24) Demand meter is an example of which type of instrument?

AFYf HeT § FIUTAT THRTAT IYFHIVITY T 36T8I0T 318 ? [Question ID = 296246]

1. Recording instrument / #Aiguft 390t [Option ID = 1152436]
2. Indicating instrument / = 39eI0T [Option ID = 1152437]
3. Integrated instrument / Tahfeld 39T [Option ID = 1152438]
4. Absolute instrument / Elﬁ":j'\U‘r 39T [Option ID = 1152439]

Correct Answer :-
« Recording instrument / Aiguft 39T [Option ID = 1152436]

25) What is the % of error allowed for a single range (voltmeter or ammeter) for electrodynamic
instrument?

T Aofrean (sgieeHie faT AMHIEY) SAacIsTe A SUHIUITATS! AT FErd! cadhan fhdt 3rad? [Question
ID = 296247]

1. 0.3% / ©.3% [Option ID = 1152440]
2.0.2% / ©.3% [Option ID = 1152441]
3.0.25% / ©.33% [Option ID = 1152442]
4.11t03.5% / ¢ & 3.9% [Option ID = 1152443]

Correct Answer :-
e 0.3% / 0.3% [Option ID = 1152440]

26) What is the temperature coefficient of resistance at 20° for phosphor bronze?

BRGT AISTATSN 20° ATIATATAR U ATTHTT I[ONF F1T FHAT?
[Question ID = 296248]

1. 0.0039 / 0.003% [Option ID = 1152444]
2.0.001 / o.00% [Option ID = 1152445]

3. 4x10° / yxgo™% [Option ID = 1152446]
4. 1.72x1078 / 2.53x%07¢ [Option ID = 1152447]

Correct Answer :-
e 0.001 / o.00¢ [Option ID = 1152445]

27) Which type of error can be minimised with reduction of weight of the moving system?

T FAOEAT TSTAT U Foel HITAT THRAT T FH FeT ST ATRATT?
[Question ID = 296249]

1. Frequency error / dRaRaT &I [Option ID = 1152448]

2. Hysteresis error / geaeirerd (fexeXf @) I [Option ID = 1152449]
3. Temperature error / mﬁg‘é’r [Option ID = 1152450]

4. Friction error / &¥oT (fherereT) I [Option ID = 1152451]
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Correct Answer :-
« Friction error / &¥oT (f3herereT) JET [Option ID = 1152451]

28) Which method is also called as the concatenation of the induction motors?

FTAT TG SSFUT AT NSO FHGUAT (Fiechear) HW ST Fgordia?
[Question ID = 296250]

1. Pole changing / %HW‘UT [Option ID = 1152452]

2. Injecting slip frequency EMF into rotor circuit / Aex Tfheaed ed IRARAT STATH 3id: 81 (3oide) HOT
[Option ID = 1152453]

3. Cascade control / S&hs F=0T [Option ID = 1152454]

4, Kramer system / sh#R I30T [Option ID = 1152455]

Correct Answer :-
« Cascade control / F&H3 70T [Option ID = 1152454]

29) is defined as the difference between the synchronous speed and the actual speed
of the rotor.

Ve Fohiforw (RPFHE) ard) 3nOr aeafas (Tt ) It IredT SFaTe<ar BIFhreT kir: |
Fgurdrd. [Question ID = 296251]

1. Slip / e [Option ID = 1152456]

2. Rotor reactance / JeX R3Fe=a [Option ID = 1152457]
3. Ring / a1 [Option ID = 1152458]

4, Wound rotor / @138 eX [Option ID = 1152459]

Correct Answer :-
o Slip / &7 [Option ID = 1152456]

30) Given equation represents which type of losses?
Pm =P -P,

Grelel FHIHIOT FIOTAT TR FHAT aifaa?

Pm =P -P,

[Question ID = 296252]

1. Rotor copper losses / Ae AT sehdTeT [Option ID = 1152460]

2. Stator losses / ¥&eX FJaTeT [Option ID = 1152461]

3. Shaft losses / Mee sfndTeT [Option ID = 1152462]

4. Gross mechanical power losses / TehUT Iifeh 3ot gT=ir [Option ID = 1152463]

Correct Answer :-
« Gross mechanical power losses / T&pUT Fif3sh 3ol gTei [Option ID = 1152463]

31)
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is the process of converting energy from some alternate form to electrical energy via a

process.
TETEAT T 3fear FawTe Rege ot SraRoT FvaTeAT Wi Fgurard. [Question ID =
296253]

1. Generation / faf&dT [Option ID = 1152464]
2. Transmission / 9RYOT [Option ID = 1152465]
3. Distribution / fa@RoT [Option ID = 1152466]
4. Utilization / araX [Option ID = 1152467]

Correct Answer :-
o Generation / fAf&dT [Option ID = 1152464]

32) Given figure indicates which type of four pole gramme-ring winding?

@relt ool 3mepelt TR et a-Rar arifegaren Hiorar R geifaa?

[Question ID = 296254]

1. Cross section / sI& JaIsT [Option ID = 1152468]

2. Equivalent armature circuit / T5sheT 3R AfFe [Option ID = 1152469]

3. Simplified equivalent armature circuit / Feefighe FHeheT =R Hfdhe [Option ID = 1152470]
4, Complex Equivalent armature circuit / STieer THHET 3R Afdhe [Option ID = 1152471]

Correct Answer :-
o Cross section / s1e TerereT [Option ID = 1152468]

33) The single conductor requires 30 ms to move through the uniform magnetic field of 5x10°
maxwells, find the average voltage generated in the conductor.

THT T ATEHTCT THHATT 9x¢o® HFqAe TahIT SN vATH 3o fAefiag aeram, ... forAtor glomr
T fgg are e,

[Question ID = 296255]

1. 1.65V / 2.€9 Sglee [Option ID = 1152472]
2. 1.66V / 2.6& glee [Option ID = 1152473]
3. 1.67V / 2.€b Tglee [Option ID = 1152474]
4, 1.68V / 2.6¢ eglec [Option ID = 1152475]
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Correct Answer :-
e 1.66V / 2.5 Tglec [Option ID = 1152473]

34) Given figure indicates which type of windings?

Gl 3Tell FIOTAT YR arafesar gefaa?

[Question ID = 296256]

1. Performed armature coil / 9IS 3R Figer [Option ID = 1152476]
2. Lap wound coil / o9 a138 Higer [Option ID = 1152477]

3. Wave wound coil / 39 @133 @Isel [Option ID = 1152478]

4. Two layer windings / gfa€d<iT arsfsar [Option ID = 1152479]

Correct Answer :-
« Two layer windings / gfa€adr ar$fger [Option ID = 1152479]

35) Which type of windings is used in small induction motors and in small wound induction motors?

TETT SSFU AT AT FeTe AfSed Ssaere ACHALY FIVAT YHR qrATST JTaTd Aa?
[Question ID = 296257]

1. Lap and wave windings / oI 3Tf0T aXeT arifessT [Option ID = 1152480]

2. AC synchronous dynamo armature windings / THT HehTioieh e d-sTi=i=3MM#{eR arifesar [Option ID = 1152481]
3. Half and whole coil windings / 31¢f 30T HYuT siger arif=gar [Option ID = 1152482]

4. Chorded or fractional pitch windings / Sitargerer fear 3iifRres drer ardfegar [Option ID = 1152483]

Correct Answer :-
« Half and whole coil windings / 37¢f 31TT0T €qUT shigel arifeser [Option ID = 1152482]

36) has a load voltage characteristics in which the no load and full load voltage are

#EY A3 Siece AR AT SAHEY AN AWAT 70" got A3 IFHATAT glecs AT .
[Question ID = 296258]

1. Flat compound generator / FHEZFd ST (Fele HUTHS SeveX) [Option ID = 1152484]

2. Under compound generator / fTd&eTd S (313X U138 SteikeX) [Option ID = 1152485]

3. Over compound generator / 37fa {-igcrd SfaT (3egX FUTF3 FFeiieX) [Option ID = 1152486]
4, Welding generator / T&I0T JfaT (AfegeT Fekex) [Option ID = 1152487]
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Correct Answer :-
« Flat compound generator / HHEZF ST (Fefe HUTFS Sfeiiex) [Option ID = 1152484]

37) The property that is measured by its maximum residual magnetic induction is known as:-

37T I[OTHH SATAT AT AgeaH AV AT FSFAAGART HIoTel AT ATl FEOTdT.

[Question ID = 296259]

1. Interpole / 3TTcRed (geXdrer) [Option ID = 1152488]

2. Saturationcurve / €YfeFel dsh (FegeT &d) [Option ID = 1152489]
3. Shunt generator / 9r2a9 SIfAT (€ SFeReX) [Option ID = 1152490]
4, Retentivity / emRoTefterar (Refeefadr) [Option ID = 1152491]

Correct Answer :-
« Retentivity / aRoTeerar (Refeefadh) [Option ID = 1152491]

38) What is the value of solar constant?
TR (HeR Fieveee) AT F19 3§? [Question ID = 296260]

1. 1.39 kWh/(m2-h) / £.3% farairde/ arely gat #iex [Option ID = 1152492]
2. 1.40 kWh/(m?2-h) / ¢.80 fereitde/ arelY aaf #frex [Option ID = 1152493]
3. 1.41 kWh/(m?2-h) / 2.2 fhelide/ arelt et #iex [Option ID = 1152494]
4. 1.42 kWh/(m?2-h) / 2.¥3 frelide/ areft @af #iex [Option ID = 1152495]

Correct Answer :-
e 1.39 kWh/(m2-h) / 2.3% forelide/ areft @st #iex [Option ID = 1152492]

39) is a process of capturing waste heat from manufacturing.

ITUTGATT 3AfRISE FSAT STAT HI0ATAT TishA ol Fgurdrd. [Question ID = 296261]

1. Cogeneration / EgfaHTUT (IsTaixereT) [Option ID = 1152496]

2. Topping cycle / &ifder =k [Option ID = 1152497]

3. Bottoming cycle / sief&ar sk [Option ID = 1152498]

4. Combined heat and power / HJeF ISAT 3701 reFell (FgeFdl g @ dia) [Option ID = 1152499]

Correct Answer :-

« Cogeneration / TEfAHATUT (IsTeR2rT) [Option ID = 1152496]

40) The output of the windmill is given by:
YaeahId Scules JeanT e Sra:
[Question ID = 296262]

1. P = 2.13x1073 Adv3 kW [Option ID = 1152500]
2. P = 2.14x1073 Adv3 kW [Option ID = 1152501]
3. P = 2.15x1073 Adv3 kW [Option ID = 1152502]
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4. P = 2.16x1073 Adv3 kW [Option ID = 1152503]

Correct Answer :-
o P =2.14x10"3 Adv3 kW [Option ID = 1152501]

is an open channel or a tunnel depending upon the powerhouse location.

uF Gell arfeeit frar v aherar srwal, St dierarredT FUETET e Jwd.

[Question ID = 296263]

1. Spillway / 31adT (R’gerd) [Option ID = 1152504]

2. Trash rack / &eRT ST (22T T&) [Option ID = 1152505]
3. Surge tank / 3edltel €T (FT k) [Option ID = 1152506]
4. Tailrace / 31dsTeldlg (<elx®) [Option ID = 1152507]

Correct Answer :-
« Tailrace / 3@sTelarg (¢ekd) [Option ID = 1152507]

42) In which process the water enters the surface strata of soil and makes its way downwards to

the water table?

FIOTCAT FiFAT qToft ATCAIEAT ToSHTITCT T Taer Fe 30T sfsrerrean e @relt ARTHAT FXa? [Question

ID = 296264]

1. Transpiration / sTSAcdsteT [Option ID = 1152508]
2. Interception / 3icRfersT [Option ID = 1152509]

3. Infiltration / 3/d&&RoT [Option ID = 1152510]

4. Surface runoff / gsaarg [Option ID = 1152511]

Correct Answer :-
o Infiltration / 37d&&ROT [Option ID = 1152510]

43)

of transmission line is defined as the ratio of change in voltage at the receiving

end from no load to full load keeping the sending end voltage and frequency constant to the full load
voltage.

TaTAe ArSaatier Il SITEAT Y 1S A Gl NS FZA TVT Al g oA Feard J0NeeT
3reft Fer ST T AT JYOT ATS[FIT Sglecr IOr aRATRAT U & gt A3 gecsr ¥ 3rwa.

[Question ID = 296265]

1. Regulation / fa&&eT [Option ID = 1152512]

2. Efficiency / sr&t#ar [Option ID = 1152513]
3. Performance / &TATIRY [Option ID = 1152514]
4, Power / 34T [Option ID = 1152515]

Correct Answer :-
« Regulation / &&= [Option ID = 1152512]
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44) Given figure indicates which type of insulator used in overhead transmission?

feerear arpcid alier Iy HoreAT yhrET faggay geifaer ame?

[Question ID = 296266]

1. Shackle insulator / f¥ers fdegcRitrs (el $=qeiex) [Option ID = 1152516]

2. Suspension insulator / felelereT faegdiTers (FEd=2r Se4ele) [Option ID = 1152517]
3. Strain insulator / T faegdRTere (FgeT g-¢fiex) [Option ID = 1152518]

4. Pin insulator / T faegairere (T s=geiex) [Option ID = 1152519]

Correct Answer :-

« Pin insulator / T faegaritr (9T sweiex) [Option ID = 1152519]

45) Which application of transformer is mandatory for all medical equipment?

T dGTHIT ITHIUTATS TABIHIT HIT 3TATIoT I ferard 3me? [Question ID = 296267]

1. Electrical isolation / fdegd 3ma@ere [Option ID = 1152520]

2. Impedance matching / ER1er Helel (3¥US=H #iar) [Option ID = 1152521]

3. Instrument extension / 39T fAFAR (S-8gHC Tadca2l) [Option ID = 1152522]

4. Link between AC to DC system / THT 31fOT ST IJF0IeIFATeTdT feleh [Option ID = 1152523]

Correct Answer :-
« Electrical isolation / fdege 3ma@tereret [Option ID = 1152520]

46) Given figure indicates which type of transformer?

GTelel ATFrelled HIUTCAT FHRET BT Geifare ame?

4
I L HY
[ |
]
1 .
- [ I I
M NN M1 NN

[Question ID = 296268]
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1. Core type / I3 YR [Option ID = 1152524]

2. Shell type / 2T 4R [Option ID = 1152525]

3. Berry type / s{Y 9K [Option ID = 1152526]

4, 3 phase type / 3 %ol &R [Option ID = 1152527]

Correct Answer :-
o Core type / HI3R YR [Option ID = 1152524]

47) What is the capacitance value (JF) for 1/8 horsepower (hp) split phase motor?

¢/ ¢ 3RaEFdear (vadt) fvae bt AArd! ¥ASF Aed (ATIHHIS) (UUF) F 38? [Question ID =
296269]

1. 100 / 800 [Option ID = 1152528]
2. 80 / ¢o [Option ID = 1152529]

3. 135/ 239 [Option ID = 1152530]
4. 175 / %3 [Option ID = 1152531]

Correct Answer :-
e 80/ ¢o [Option ID = 1152529]

48) The quadrature pulsating rotor field reacts against the pulsating main field to produce a

FATZTR TeR e NeX ez A&7 TeRfear fres sew sfffmar wwa anfor forATor 3. [Question
ID = 296270]

1. magnetic field / Gerehrar &1 [Option ID = 1152532]
2. induction motor torque / 33F21sT AeX &l [Option ID = 1152533]
3. circular field / acjerehR &1 [Option ID = 1152534]
4, resultant field / 9RO & [Option ID = 1152535]

Correct Answer :-
e resultant field / 9RoTHT &= [Option ID = 1152535]

49) What can be used for high frequency cables as it has a low melting point?

&t AT dige VAN 3T TRARAT FATHTS! FII AT AT AFd? [Question ID = 296271]

1. Varnished cambric / eg1fei2rs &f&ser [Option ID = 1152536]

2. Polyvinyl chloride / giforegieser FeiRTSS [Option ID = 1152537]
3. Polythene / 9ifafasT [Option ID = 1152538]
4, Vulcanized rubber / cgeshaTTs5s I&X [Option ID = 1152539]

Correct Answer :-
« Polythene / Gifef@sT [Option ID = 1152538]

50) Which class of insulating materials consists of combination of materials and are accepted at
120° temperature?

SIoTeT Ao faggaidt afecarear fafaey v @feca 3ra Jfor q ¢:0° AUATEATER FHFRA S1a?
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[Question ID = 296272]

1. Class E / #oft § [Option ID = 1152540]
2. Class Y / &ofr arar [Option ID = 1152541]
3. Class H / ofy T [Option ID = 1152542]
4, Class C / &ofr &t [Option ID = 1152543]

Correct Answer :-
o Class E / #oft § [Option ID = 1152540]

GET IT ON
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